= o
A & 0l & AF 2 E A A
20229 & EZ0lA LB ME X
SN METRAD
X HII= M 2l
el MEMYD HFae CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A4 2 X2 Dt 18,906,947 18,768,064 138,883
= 753,665
J| 20,324
< 160,247
Al 17,972,711
HII2 el zel 17,744,702 17,948,306 203,604
= 753,665
J| 20,324
< 160,247
Al 16,810,466
MEtMg )] HEze 16,099,401 16,515,246 A 415,845
= 658,280
J| 20,324
< 133,978
Al 15,286,819
MEHIIE =2 & FMel 12,813,625 13,114,603 A300,978
101 @14l 31,015 27,796 3,219
04 JIZtHZ22HEE = 31,015 27,796 3,219
Otz 3dl 2ldXel Al 31,015
>olE=s 77,0003 x 1 x198 15,246
PEsd 77,0003 x1H+36 2,772
>aNS 2,002,000& 1 x33| 6,006
> AX=E 86,5903 »1H +9 780
D> & Mg AlH| 140,000& 1«9 1,260
> usS 2Ll 120,000& »1H +x9& 1,080
> HE S| 2,002,000& 12 *40/100 801
>IBH=RES 27,944 1102 +4.5/100 1,258
PALEBEZ 27,944 ,110& *3.43/100 959
PEIRYBEZ 958,490& x11.52/100 111
PINEBEZ 27,944, 110& »1.65/100 462
DAUTHESE R 27,944,110& %1/100 280
201 et2 Y| 101,240 70,621 30,619
01 At 22l 47,640 44,840 2,800
OXYIIE0I] & S2HE 822 M
20,000,000& » 14 20,000
O338 M) S5 HEAEH AEH ME
15,000, 000& 14! 15,000
OHg&ds 2828 =8 400,000& =163l 6,400
OFZHE €& Hdg8 ¥ AL 22/22H|
&M 24 4,000,000& %14 4,000
OFAANSR E22AJS A&
70,0003 »8H 43 2,240
02 =24l 53,600 25,781 27,819




SN HETE D
X HolE Xel 2

Selr MMyl FE2ae

SA - BB B () - MM - BES Ol &t o San HmEET
OXgJl egXdel dE8H3 s HAIER
50,000& 123 600
OUEHI=S ZH MHMHIA OIE23
300,000& 122 3,600
OUEHIIE 2228 |XE2H
6,400,000 » 14! 6,400
OQZXs MEE sl=28 SRS
150,000& =128 1,800
OQZBXs MEE sl=2x |FAE=H
25,200,000 =14 25,200
OFAXtE |AE=H| 8,000,000 »2CH 16,000
207 A RO H| 20,000 20,000 0
01 289 20,000 20,000 0
OFAUEIM(MEHIIE S) It Y
15,000, 000& 14! 15,000
OSAERF HII=2 AN 448 ES
5,000,000& » 14 5,000
307 glz2+ol & 12,661,370 12,996, 186 A 334,816
05 RIZt2E = 12,661,370 12,996, 186 A 334,816
Odg RoiHII=E M2ES
145,000, 0002 14! 145,000
OMelthd 4 2,206,365
DUEHIS 585,320,000 » 14! 585,320
DEASF HII2 1,281,045,000% 14! 1,281,045
DMEEIDsS HIIS 340,000,000 =14 340,000
Oo=g - 28 &84 10,310,005
DAMSHIIS 3,285,225,000& 14 3,285,225
DUEHOIS 695,620,000 » 14! 695,620
DESAEF HIIS 2,193,925,000& 14 2,193,925
DUMESIts HIIS 4,090,235,000& » 14l 4,090,235
>RHEX Hol= 45,000,000& * 14| 45,000
SEH #ASE M 2 22 735,000 739,400 A 4,400
201 Let24d] 2,000 6,400 A4,400
01 At 22l 2,000 2,000 0
OSEHM #Z3F AEIH MZE 80&*25,0000H 2,000
206 M= Hl 733,000 733,000 0
01 =8l 733,000 733,000 0
OXgIl S&M #ASE A 567,950
DSAE 22 253300, 0000H 7,500
Dots - SAS 3¢ 30& *470,0000H 14,100
>ots - SAE 54 35&+470,0000H 16,450
DAL - BtE - SA2 104
45%%1,020,0000H 45,900




L N F Iy
S HJIE HMel 2l
DAEMY D] HEF e

SA - BB B () - MM - BES Ol &t o San HmEET
DIAIE - LBHE - SAI2 204
65% *3,800,0000H 247,000
> BB - SAE 500
130& %750, 0000H 97,500
> ot 750 175& x600, 0000H 105,000
>E3E 1004 2303 *150,0000H 34,500
OS=+ nASE Ot WA 84,950
> 202 4303 +15,0000H 6,450
> 504 500& x72,2000H 36,100
>758 530& +80,0000H 42,400
OsAEdE 14,500
>3¢ , 54 30& %100, 0000H 3,000
> 104 353100, 0000H 3,500
>20¢ 403 *200,0000H 8,000
Os& M 4,000,000& =14 4,000
OM&gElls HilE =18 =& M= 61,600
> 502 86:& *400,0000H 34,400
> 1002 136& 200, 0000H 27,200
HOIl2 SSHEI &X 1,203,631 1,055,297 148,334
201 LBH2Z| 181,150 84,100 97,050
01 At 2t 2l 24,950 17,900 7,050
OMYDl REHEI E22 M2 50,0003 «5004 2,500
OMYDl RHED &8 22 7Y
450,000 » 14 450
OHIIZ ZAM =2 350,000& »12A 4,200
O4NBHM=sE S8 E 1,500, 000& *43| 6,000
QOHYIIZ2 Y SFI| 22X 1=t
150,000& »2H 300
OSHYHEHII=S &8 =240 dX=
500, 000& *33] 1,500
ORHLXHIIZE M2l 10,000,000 14! 10,000
02 =224l 156,200 66,200 90,000
OoXgJl RHEI HE52 FUHES SRS
50,0003 +2CH«12& 1,200
OADE 3E HEIIH MER
10,000,000& = 12& 120,000
OAQGE 318 KX2e2ldl 30,000,000 *14) 30,000
oMl REHED &E5XeE |22l
5,000,000% = 1CH 5,000
202 oddl 14,400 14,400 0
01 = LH o4 1l 14,400 14,400 0
OMdEHIIES UM & HHEAMEE NE=EZ
04 dl 14,400, 000& 14 14,400




2N

X{ XH -
S =

A4 &k X} 2 ot
HIlE2 HMcl 22
Selr MMyl FE2ae

= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 M= Hl 6,000 5,400 600
01 M= 4l 6,000 5,400 600
OS2RUGHSA AHTAANAY %= Do
250,000& *30H 2~ +8& 6,000
307 glz2tol & 937,081 899,397 37,684
02 It M AHE L 937,081 899,397 37,684
OMgDl 2Est nesg:s ZT21Y 29
25,000,000& =14 25,000
OZeS (222 EFA) MY
912,081,000& =14 912,081
401 AIEHI L 201 65,000 52,000 13,000
1T A& HI 65,000 52,000 13,000
OMYIl RHED 4SS ANE F I EH(CCT
V) &xX 5,000,000 =13CH 65,000
ADZAZHE 29 2,520 1,560 960
301 LA F 2,520 1,560 960
12JIEt243 2,520 1,560 960
oMYl RHEI| A DE24= 140,000& «12& 1,680
O13 23 A9 MDE4Z3 20,0008 128 240
Ostzagde durds 600,000 » 14! 600
Sdi0OIE Ml XA 1,316,560 1,521,080 A 204,520
= 658,280
< 131,656
Al 526,624
402 2I2H X201 M 1,316,560 1,521,080 A 204,520
= 658,280
< 131,656
Al 526,624
03 eIzt F I 1,316,560 1,521,080 A 204,520
O=dIOIE ™Mel X&AY
1,316,560, 000& 14 1,316,560
= 658,280
< 131,656
Al 526,624
AQIol 2HS0 Xs 22,582 64,806 N42,224
J| 20,324
< 677
Al 1,581
301 EEH = 22,582 64,806 N42,224
J| 20,324
< 677
Al 1,581
01 MI28HE 6= 22,582 64,806 N42,224
O&dIlo 2H=SW X2 22,581,480 » 14! 22,582




2AM:
CHIIZ2 HMel 22

el

X ZH
S =

A= TR 0t

MEM I HF2e

SA - BB B () - MM - BES Ol &t o San HmEET
Jl 20,324
< 677
Al 1,581
22 - UX sd0olE HMalAY 5,483 0 5,483
< 1,645
Al 3,838
401 Al HI K 201 I 5,483 0 5,483
< 1,645
Al 3,838
01 A& HI 5,483 0 5,483
O - & =d0IE HMelAdg
5,483,000 » 14! 5,483
S 1,645
Al 3,838
Hes8 S&AY 486,165 286,266 199,899
= 95,385
< 26,269
Al 364,511
ME&EIts HII=Z2 2ed=HE B 38,900 29,550 9,350
206 M= Hl 38,900 29,550 9,350
01 =8l 38,900 29,550 9,350
OoMasas 2el=HH 220,000& 204 4,400
OAHEX & SEX(MHEES REAY)
500& x10,0004 5,000
OHgEZS, HAMX 328 100,000 504 5,000
O3S SAsHel Bs+HEII(120¢ / Tt
E=A LHE) 40,0003 3004 12,000
Olls2 8Jl8 =HE 500,000& 257K 12,500
Has 28 A8 88 44,216 40,216 4,000
201 £B-2dH| 3,416 3,416 0
02 =224l 3,416 3,416 0
OXgsXl2eldl (32 48) 3,416,000 <104 3,416
202 oddl 6,400 6,400 0
01 = LH &4 1l 6,400 6,400 0
OMgEIsHII= 2cltiE =& bl
6,400,000 » 14 6,400
307 glz2+ol & 34,400 30,400 4,000
02 It M AHEE 6,400 6,400 0
OFFAY sMTH 29 6,400,000 » 14! 6,400
05 BIZHRIE 3 28,000 24,000 4,000
OHEZE & HAMX d8 &4
28,000,000& » 14! 28,000
SO - O MHEEddH 29 XY 2,500 2,500 0




SN HETE D
X HolE Xel 2

CHel: s SUAY (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
301 LEHZ 2,500 2,500 0
12243 2,500 2,500 0
OMASEE 12 - IId 24 A B4Z(
SILESE M2Es4H) 2,500,000 » 14! 2,500
SZEMHHE =214l X& 15,000 15,000 0
= 15,000
301 LBEAZ 15,000 15,000 0
= 15,000
12 JIEtE &= 15,000 15,000 0
OZsHblE =1 24 15,000, 000& 14! 15,000
= 15,000
MeEIHsHIIE =E8&HAHAS 164,000 164,000 0
301 LEHZ 164,000 164,000 0
12243 164,000 164,000 0
OZsHilE =H & 164,000, 0002 14 164,000
=85ty &= A& 17,949 15,000 2,949
= 5,385
< 3,769
Al 8,795
401 Al B2 28I 17,949 0 17,949
= 5,385
< 3,769
Al 8,795
01 A& HI 17,949 0 17,949
OsZHJlg =&8% 17,949,000& 14 17,949
= 5,385
< 3,769
Al 8,795
IsHII= EotE B+ 20,000 20,000 0
401 AIEHIZ 28I 20,000 20,000 0
01 A& HI 20,000 20,000 0
Og=sHolge HotH 4,000,000& 54 2 20,000
HIOIEN S PA&LE=HA 33,600 0 33,600
201 LBH2E| 33,600 0 33,600
01 At 2t 2l 12,000 0 12,000
OHItEsS2EGHE XIAX gX2
1,000,000& »12& 12,000
02 3323l 21,600 0 21,600
OmItEsS2EGHE s
21,600,000 =14 21,600
MeEsUote &X 150,000 0 150,000
= 75,000
< 22,500




_‘f’_/\-l /\Hs_l-I}OJ_”»
X HII= M 2l

e HEE SAAY

o
SN P SA(EN) - MBAY - BES e HlDE2
52,500
401 A& HIZ 201 I 150,000 0 150,000
= 75,000
< 22,500
Al 52,500
01 A& HI 150,000 0 150,000
olngssuotyg &1 150,000, 000& * 14 150,000
= 75,000
< 22,500
Al 52,500
SAESFHIIS s SZM(Z23) 0l 94,652 122,160 A 27,508
SSTH SAEF HIIS SEH A 94,652 122,160 A 27,508
201 et 92,492 120,000 A 27,508
01 At 22l 92,492 120,000 A 27,508
OS8AESSF HII= RFID SEJ| gi&
92,492,000 =14l 92,492
301 LPEAZ 2,160 2,160 0
01 MEIBZE 06z 2,160 2,160 0
OJlzdg=3 X d=2HM SEM ==2 &
3,000& 60Nl CH+12& 2,160
A2 S HEAY 1,064,484 943,634 120,850
AMeEztelSH HEAY 29 1,064,484 943,634 120,850
309 HES 925,484 598,634 326,850
01 SAt- SHINTES 925,484 598,634 326,850
O AlEZ el tHEASHl 925,484,000 » 14 925,484
404 SASHIHEEES 139,000 345,000 A 206,000
01 SA - SEHI=SEES 139,000 345,000 A 206,000
O Al 2tel HHAZEH 139,000,000 141 139,000
Hees (M) 1,021,580 674,905 346,675
Heh RS (M XA 1,021,580 674,905 346,675
HWEAHHX S (WS EFH XA =) 1,021,580 674,905 346,675
702 JIS8ES 1,021,580 674,905 346,675
01 JI38&E= 1,021,580 674,905 346,675
OHJISWHE AL =LUXE Jl= 1,021,580
DOHEZE =HASXA JISZL(ME)
61,040& +70,000& 10/ 100 427,280
DOHEZE =HASXA JISZLH(BEA)
99,050& *60,000& *10/10 594,300
A2 (MEXR D) 140,665 144,853 A4,188
A 2EH (ME X0 82,525 82,513 12
A2 (e X&) 82,525 82,513 12
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